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No. of Questions/sef &t @t : 120

lime G94; 2 Hours/ 9T ] [Full Marks/quTis ; 360

Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)

marks. One mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question.

SR T @ S e & | vw @ 3 () ¥ H R
e e I & Y U S ®TeT WA | FE HIAid T H
WIHTh I B |

(2) If more than one alternative answers seem to be approximate to the

correct answer, choose the closest one,
qﬁmﬁmﬁﬁmmuﬁm%ﬁmmﬂﬁl,ﬁhﬁmmm

3

1.

Which of the following effects Do Not work in the direction of reducing
inflationary gap 7

(1) Income Redistribution effect (2) Foreign trade effect
(3) Pigou effect (4) Marshall effect

i s B 9 F@ 3 Frefifen § & 9 @ e wH TR T
(1) 3 gAfaw I (2) fn =wR Y9

(3) (4) Wi F¥Ta

(1) (Turn Over)
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2. The problem of inflation in developing economies is a long term probigm,

This view is supported by
(1) Monetarist Theory (2) Structural Theory
(3) Classical Theory (4) None of the above

ferraefter 2wt o grefifa N wren St wen R ) v Rur @ e e
Rrgia & 2

(1) wfgw fagma (2) v frgra
(3) g frgia (4) 3 & @ 2 7

3. 'Trade Cycle can take place because of technological shock.' This view is
supported by

(1) Hicksian Theory (2) Samuelson's Theory

(3) Real Business Cycle Theory (4) Goodwin's Theory
‘w%mm%mmﬁmt I v fauR & s w2
(1) fewa 1 frgma (2) Agorem = firgra

(3) ar=ras =R =% fagE (4) Tefm = g

(2) (Continued)
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The permanent income hypothesis that establishes relationship between perma-

nent income and permanent consumption argues that the relationship depends
on

(1) rate of interest, future expectations and taste & preference

(2) rate of interest, ratio of non human wealth to income and taste & pre-
ference

(3) rate of interest, transitory income and taste & preference

(4} rate of interest, return on human capital and taste & preference

Tt s afteeT ot Tl ot e wrh 3w §F o9 gy g sl 2, 9
ot 2 fip 77 way frefofe w fsk @

(1) = =, s i yemm, TR W@ e
(2) =@ 2, W AT U T 3 F A, N @ e
(3) = 2, WA () M, W @

(4) = <, e "ot e, o o v

According to the Keynesian model, equilibrium output of an economy may be
less than the full-employment level of output because at full employment

(1) sufficient income may not be generated to keep workers above the
subsistence level

(2) there might not be enough demand by firms and consumers to buy that
output

(3) workers may not be willing to work the hours necessary to produce the
output '

(4) Interest rates might not be high enough to provide the incentive to finance
the production §

(3) (Turn Over)
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ﬁnﬂmm%wﬁﬁmﬁmm,@mﬁmmé“
B w1 § FITH T U & R

(1) sfl ot e @ &R Y o7 aoed & e % i v om F1 3w
T & v g |

(2) &l o Il g 3 36 & 9 o fe watw win 7 @ g R
(3) o 3 B I E & R far 7 A7 S 99 I 9 U 59 F R

FEAEF B |

(4) < T ST T B 6 97 30 I H P Ve H0 3 waim v d

6. Ifthe Reserve Bank of India lowers reserve requirements, which of the follow-
ing is most likely to happen to interest rates and nominal gross domestic

product ?

Nominal Gross

Interest Rates Domestic Product
(1) Increase Decrease
(2) Increase Increase
(3) Decrease Decrease
(4) Decrease Increase

712 e ford e o A 1 %7 e R @ w @l w s v e
1 ffefas # @ B waffts womh dm 7

T 51 3 whel T I
(1) 9 =0
2) 9fa e
(3) = i)
(4) @ I

(4) _ (Continued)
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7. ThePhillips Curve under the sssumption of rational expectation is
(1) Downward sloping in the short run, vertical in long run.
(2) Always downward sloping.
(3} Always vertical.
(1) Cantake any shape.
fyarapefier wearm 1 feufa A feforw a%
(1) sreare 4R B o Fren g e e 3 A d |
2y =g A R o fiv #ar @ |
(3) WOTIAMR |
(4) foredt st TR 1§ T # |
8. Which of the following statements is true with respect to MEC ?
(1) The concept was given by the classical school
(2) Itis positively related with expected series of annuities
(3) ltis positively related with supply price of capital assels
(4) Itis high during recession
MEC % eu & fefifag #d PR aFeA a1 2 7
(1) 7@ U AR Eved g s ot
(2) ﬁwﬁmmﬁﬁm#mmmﬁﬁﬁmﬁm%
(3) ﬁ@ﬂﬁaﬁﬂ%iﬁw@#mmm#éﬁﬁaﬁm%
(4) 7% wiR & @A =0 g

(5 (Turn Over)
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9:

10.

Which of the following schools supported the assumption that wage and price
remain rigid ?

(1) Keynesianand New Classical (2) Classical

(3) New Keynesian (4) New Classical

Frifeifiaa & & #17 m e vl @@ e ggar B v w7 w7
(1) % & & e (2) wela

(3) =T Ffim (4) 77 wmeiy

If no foreign company produces in a country but many of the country's com-
panies produce abroad

(1) The country's GNP will tend to exceed GDP
(2) The country's GDP will tend to exceed GNP
(3} The conntry's GNP and GDP will tend to be equal

(4) No valid conclusion about GNP and GDP could be drawn

ﬁﬁﬁ?ﬁﬁ?ﬁmmﬂﬁ:ﬁé‘mﬁﬂﬁﬁwm%ﬁﬂm@ﬁagﬁm
Ftr foewl 4 senfim = € &)

(1) 38 %u = GNP3I&F GDP @ atfuss g
(2) 383w @ GDP 3% GNP @ arfas 2im
(3) 3% GNP w4 GDP & g@t & st it
4) GNP@GDP%ﬁﬁaﬁaﬂéﬁmﬂaﬁmqgmmmm

(6) (Continued)
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Which of the following statements about the Real Business Cycle theory is
false ?

(I) Itargues that trade cycle is caused by supply side factors

(2) A very popular version of the theory has been given by Kidland and
Prescott

(3) Itargues that increase in supply of money can cause cycles

(4) Ittreats technology shock as an important factor for emergence of cycles
AR ST =95 fUgd & Gey § Feffaa A A R s gdi di 2 7

(1) =g wran 2 for =amam = i gefta Sron |/ 9= ga 2

(2) 3a g & % A AR SR 1 fReeve e Swwie g o w2
(3) ¥ qeal 2 6 g i ufd & 9fy =mm =%+ e w

(4) T A ITETT F AR T 6 I FT TG FRO T

According to which of the following hypothesis, consumption is irreversible ?
(1) Absolute Income Hypothesis (2) Relative Income Hypothesis

(3) Permanent Income Hypothesis  (4) Life Cycle Hypothesis
fraforfias o @ fra aftereae & ST I9W SRV Bl ? 7

(1) Frde sma giewes (2) om& A RF

(3) TR 3 TR (4) St 5% AiweT

(7) (Turn Over)
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13.

14.

According to Simon Kuznets the relationship between Gross National Product
per capita and inequality in the distribution of income can be expressed as

(1) Decreasing Relationship

(2) Increasing Relationship

(3) Firstincreasing and then decreasing relationship

(4) NoRelationship

AR FCE ¥ AR vl Sl wEa UHE 3E UE AE % faaw o fawma 5
Tay FH wEgd R 1 T @

(1) oed Teag & ¥4

(2) @@ §a9 & &9 4

(3) uES Fed fh wed ey & w9 A

(4) Tt oft wae & w0 & 7

As per the Classical Theory of Inflation money supply elasticity of price is

(1) Lessthan one (2) Greaterthan one

(3) Equaltoone (4) Not fixed
vt & e Rrgia % srar i 1 g5 ) off e A 2
(1) a5 (2) = & sfis

(3) TH & aU (4) sfrifa

(8) (Continued)
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As per Keynesian Absolute Income Hypothesis ifin the consumption function

(= + bY, autonomous consumption is Zero then

m%ﬁﬁamm%muﬁmwcquﬁﬁmm
= o at

(1) APC > MPC (2) APC =MPC
(3y APC < MPC (4) MPC =0
As per Keynes equilibrium takes place only when

(1) Planned Investment = Planned Saving

(2) Realised Investment = Realised Saving

(3) Planned Investment = Realised Saving

(4) Noneofthe above

¥ ¥ AR G i B X 5

(1) Frifm fdw = FaifiE 7=

(2) wwfa PRw = ¥R w99

(3) frifm FRmr = ®Rd s

(4) IR A A B T

(9) (Turn Over)
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17, The Marginal Efficiency of Investment (MEI)

18.

(1) Shows an inverse relationship between rate of interest and amount of
investment

(2) Isanother name of MEC

(3) Slopes downward and is flatter than MEC curve

(4) None ofthe above

P # e g

(1) = AW 3w % v wonewss day vefia @ 2

(2) MEC = & gguam §

(3) H= & 3k Fren B 2 7wt MEC a5 § T @ g 2
(4) I 8 § w0 7

Which of the following is excluded from the calculation of GDP 2
(1) Business buying new furniture for his office

(2) Unsold items converted into inventorics

(3) Purchase of shares in Stock Market

(4) Both (2)and (3)

frafafea 4 @ a9 GDP i omn & arfirer 8 grar 2

(1) o =awrh g v writem & fre s aden

(2) for @ @ man wiet ol wier gt § wifive far

(3) V% a4 gl ® im

(“4) )@ (3) g

(10) (Continued)
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19. Which formulation correctly represents the net investment as per the flexible

20.

accelerator theory of investment ? Here 7= Net Investment, ¥=OQutput, K=

Stock of Capital, B = Accelerator Coefficient, &= Rate of depreciation and
! = time

(1) IL=p(Y,-F,) (2) 1,=8(Y-Y,)+6K_
(3) 1,=p(Y.,-Y,) (4) Both (1) and (2)

frfafa ¥ @ 99 few & dieer i figia & 3EER 1g Faw & @f w1 3
T AR P A = e Paw, ¥ = e, K = I Wi, § = v s,
S=gmEtgl, (= aud

() L=p¥-¥) (2) 1=p(Y-1,)+dK,,
(3) =81 -F5) 4) (1)@ (2) T

Which of the following would increase the value of the simple spending
multiplier 7

(1) Anincrease in government expenditure

(2) Anincrease in exports

(3) A decrease in government unemployment benefits
(4) A decrease in the matginal propensity to save
frafefiga & & #1 WAV 95 O & ¢4 H 781 g
(1) utehrt =7 ¥ gig

(2) frafa @ gfg

(3) TR F St st #§ A

(4) o sr=a wafa o
(11) (Turn Over)
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1.

22,

How did Keynes proposc to solve the problem of high unemployment ?

(1) Increase the growth rate of the money supply.

(2) Allow wages to decline, so that firms will want to hire more workers.

(3) Put on wage and price controls, so wages won'trise and firms won't have
to lay people off to cut costs.

(4) Havethe government increase its demand for goods and services.
¥ 7= AT T F FYE F A e wEd g

(1) wgz1 $ qfd i 3fg 7 # gfg @
(2) weh @ F A e e el aaftres Wl Aol W |

(3) Hma ok el @ R Pafie @ e gt @ T ae st i # e s
H0 F oo el & gl 7 w1 | '

(4) wHT g FEqadt g HaraT hi G F@E |

Which of the following will occur as aresult of an improvement in technology ?
(1) Theaggregate demand curve will shift to the right.

(2) The aggregate demand curve will shift to the left.

(3) The aggregate supply curve will shift to the right.

(4) Theaggregate supply curve will shift to the left.

Al ST % o Prefefias 4 & 99 3@ m 7

(1) w9w uiT o et iR foreenfia & smom

(2) T9m i 7% 9t o faeenfia 8@ S |

(3) @ qftf 5w gt o faeanfia &t smom

(4) v gfd o s oI feenfya & smem

(12) {Continued)
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23. Which of the following workers is most likely to be classified as structurally

24,

unemployed ?
(1) A high school teacher who is unemployed during the summer months

(2) Arecentcollege graduate who is looking for her first job
(3) Ateenager whois seeking part-time employment at a fast-food restaurant

(4) Aworkerwhois unemployed because his skills are obsolete
ﬁqﬁ#ﬁaﬁ%aﬂﬂﬂﬁﬁwwﬂmmﬁmmmmﬁ?
(1) ﬁmmﬁﬁﬁ@uﬁénﬁﬁmm%

(2) mﬁﬁgwﬁmﬁm:ﬁmmmwm%

(3) qmﬁaﬁtshﬁsﬁmg’rmﬂﬁaiwﬁﬂmma\amﬁ

(4) ﬁmﬁmmamm%mma

As per JM Keynes variations in the bank rate influence economic activity through
their impact upon

(1) Short Term Rate of Interest
(2) Long Term Rate of Interest
(3) Both Short and Long Term Interest Rates

(4) Hasnoimpacton the economy at all

&.mﬁ%wha{ﬁqﬁaﬁﬂmﬁmqﬁﬁﬁﬁhﬁaﬂam%m
¥ e }

(1) FeTwEE =™ T
(2) e = &
3) TR TE Qe =
(4) orfemaeal W T T T
(13) (Turn Over)
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25. Assertion (A) : There is automatic change in net tax revenue when level of
output changes. '

Reason (R) : Automatic stabilizers moderate aggregate spending in times of
boom and slow down

Codes :

(1) Both(A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)istruebut (R) is false

(4) (A)is false but (R) is true

affFT (A): Emmﬁwﬁﬂm%aﬂgﬁaﬂmﬁm:m
21

T (R): Tt vt w3 ol i § wm s ) oheifm w0 3
¥

(1) [AJW(RJﬁHﬂim{R},{A)ﬁFﬂmWi

(2) (AT (R)qH! a8 § T (R), (A) ) w8 =amen 7w 3

(3) (A)=# & fg (R) e R

(4) (A) e @ g (R) et 2

(14) (Continued)
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26. Gross fiscal deficit of the State Governments is financed by
(I} Market Borrowings
(I) Printing of currency
(II) Loans from the Central Government
(IV) Extemal Borrowings
Find the correct answer from the given codes :
Codes :

(1) I.1Tand Il are correct
(2} II,IITand IV are correct

(3) - Tand 11l are correct
(4) IlandIV are correct

T4 AR 1 Tha TSt e faadiite e s d .

(I) TeIR 91 R
(I % Hgv gR

(III) %5 TR & F0 & g
(V) fasfi = gr
frferfiga 72 @ o I gRv .
L T

(1) LI a#d

(2) LI IIVede
(3) ITla&e
(4) NaIvVade

(15) (Turn Over)
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Ak

28.

In a stagnant economy, @ government should :

(1) Spend more, tax less and/or pursue an contractionary monetary policy
(2) Spend less, tax less and/or pursue an expansionary monetary policy
(3) Spend more, tax less and/or pursue an expansionary monetary policy

(4) Taxmore, spend less and/or pursue an expansionary monctary policy
g arfemaen # wan # i

(1) e g AT, FH H A T/ 319 BFaer Ao i F1 s Fe
(2) 9 AT T, FA B N a1/ e Rremard Ao i w1 e we
(3) T = T, e /g faemad) B fift @ argm Fe
(4) iR = ST, F T FT 71/ R e s i : s T

Fiscal deficit less interest payment is called

(1) Net fiscal deficit (2) Monetised deficit
(3) Primary deficit (4) Budgetary deficit
g wre e s i gt ket 7 8, B wEd #

(1) g Tt o ) TR

(3) wrufis T (4) s9dg w1

(16) (Continued)
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29.  Which of the following is not one of the objectives of the tax reforms in India ?

30.

(1) Reduction in multiplicity of custom duty rates
(2) Improving tax compliance
(3) Widening the tax base

(4) Suggesting ways to increase the share of indirect taxes in the total tax
revenue

yrE F w-gunl W Rw e i d SR i R 7

(1) dmges it 6 agan & w0

(2) a;taqgmmﬁgm

(3) aﬁ{mm’tﬁ‘aﬂm | | _. |

(4) Fa o § oy w F wm A g FA S At B gaen
Equity in Taxation can best be achieved by #pplying the principle of

(1) Equal Absolute Sacrifice (2) Benefits |

(3) Equal Marginal Sacrifice (4) Equal Proportional Sacrifice
g frgr 1 SR F0 & FOAqw § waif T W B a7
(1) =9 frede wm (2) @™

(3) GHH W (4) BT SRS

(17) (Turn Over)
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31.

32,

According to Dalton, the total social advantage becomes maximum when
taxation and expenditure are carried to a point where

(1) Marginal Social Sacrifice (MSS) > Marginal Social Benefits (MSB)
(2) Marginal Social Sacrifice (MSS) < Marginal Social Benefits (MSB)
(3) Marginal Social Sacrifice [MSS) = Marginal Social Benefits (MSB)
(4) None of the above |

Tleed F AN, THel AT e e & ST 8 5 IR sit =49 ) 39
famg 7% & ST e SRl

(1) Hrara amrfere @ (MSS) > dmr= amrfas @ (MSB)
(2) i amrises @ (MSS) < € gmrfas @ (MSB)
(3) sﬂmﬁwﬁmwwsspmmﬁmm(msm
(4) IR A FE T

Public goods are not characterised by

(1) Non-rivalness (2) Nﬂn.-_cxciudabilii.y
(3) Contestability | (4) Free-riding
ﬁm%ﬁaﬁaﬁnﬁﬁﬁwqﬁaﬁm—@aﬁﬁqﬁmﬁﬁ%
(1) T-equteresar (2) M-afReroTeE
(3) whigRam (4) % gar)

(18) (Continued)
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34.

The Laffer curve demonstrates the relationship between
(1) Inflation and the nominal interest rate

(2) Tax rate and total tax revenues

(3) Thereal interest rate and investment demand

(4) None of the above

AR I TEY JERTa 8

(1) 9 &R 3 T (nominal) 3191 ST % =
(2) - A FA F AE & &

(3) avefys s g A fafdm i & e

(4) Juih ¥ ¥ e T

Which of the following is not an instrument of Fiscal Policy ?

(1) Public Revenue (2) Cash Reserve Ratio

(3) Public Borrowing (4) Public Expenditure

ﬁqﬁﬁaﬁﬁﬂﬁqmmﬁmmﬁquﬁ%?

18P/239123 (1)

(1) adf¥® 3 (2) 7 fgd g (CRR)

(3) T H (4) R =

(19)

(Turn Over)
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35,

36.

Marginal cost of pure public good is

(1) Zero or close to zero (2) One
(3) (1)and (2) both (4) Veryhigh
93 wrdsif T A Himra e @

(1) ¥ 1 3 & R 2)

(3) (1) (2) i (4) wga i

An agreement between two countries to maintain a free trade area, a common
external tariff, free mobility of capital and labour and some degree of umf‘ -
cation in government policies and monetary policy is called

(1) Common market (2) Free trade area
(3) Economic union (4) Custom union

g ST & ST T Al w2, 5 o am ) Rty it stk
we it aon Ao A F Fo dfim o whiww = w5 R a
i 2 A R H FE@ IR

(1) = whe (2) 4 =R &y

(3) anide ga (4) wen gfva (wimyess da)

(20) (Continued)
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37. The core principles of multilateral trading system are :
1. Nondiscrimination
II. Reciprocity
M. Protectionism

IV. Domestic safeguards

Select the right code from the list given below !
(1) 1,I1and IV are correct

(2) IandIIIare correct

(3) II,lliandlvaremrrect

(4) Iand.IIare_;:.u_ar:ect.

A =R vgh % w R
L

i =g

M. TEvER

IV, e g 399 |
43 & gt A vl g = = A
(1) LuskIvedt

2) HatimwhE

(3) 1, IIaRIvVadht

(4) lalIwd€

(21) (Turn Over)
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38.

39

Which of the following is not an assumption of comparative cost theory ?
(1) There is free trade between two countries.

(2) All labour units are homogenous,

(3) Factors of production are perfectly mobile between the two mu;.rlr.iﬂs.
(4) There are only two countries.
frefefea & @ F% gavers @ fagra 6 q=m T & 7
M 2 2 % o9 wa =mmn g |
(2) oW & T geal & oo |
(3) 2 3w % A= I S T qoian fe §

@) FaPm |

Which of the following is not related to World Trade Organization ?

(1) TRIPS (2) FEMA

(3) TRIMS (4) Uruguay Round
ot 2 9 T e e s @ R T R 7

() f?"«". (2) ¥

6) fm (4) 73 T

(22) (Continued)
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40. Select the correct statement out of the following :

(1) Multilateral Trade Negotiations are a process of increasing fariffs of
trade among member countries.

(2) Multilateral Trade Negotiations are a process of increasing non-tariff
barriers to trade.

(3) Multilateral Trade Negotiations are a process of increasing tariffs but
decreasing non-tariff barriers to trade.

(4) Multilateral Trade Negotiations are a process of reducing tariff and non-
tariff barriers to trade among member countries of WTO.,

Arefees § & wht o 1 I
(1) wuahia SR wwe FeEa SO & e =R st # gf S R oahen
(2) wguely =R FHE S H R-5eH a0 H FTGH R whE

(3) wgeEy R TR FUEH H qGH TG AN F M-wyew et H
racic gy i

(4) Euela AR TR Toeq, A, 3, F vEE S & i IR W -
TYe STt H FH FA B AR

41. Offer Curve of a country is derived from
(1) Its Production Possibility Curve (2) Its Community Indifference Curve
(3) Relative International Price Ratio (4) Allofthe above
et 3 1 wearE g Preforian & Frefia R amn @
(1) 30% IeUTEH TR a5 & (2) 6% HHER IATUAH T ¥
(3) anfes S fE AU (4) SW el

(23) (Turn Over)
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42.

43.

44,

Absorption Approach is also known as

(1) Price Effect of Devaluation (2) Money Effect of Devaluation
(3) Income Effect of Devaluation  (4) Both (1) & (3)

g srEvTen 9t fefRea w9 F o S o R

(1) e & o T (2) SR H1 R T

(3) YIEEA F A TE @) (Hw 3)

International Banking is regulated by

(1) IBRD (2) BASEL Committee
(3) IMF 4) G-7

sy 3 @ Rfa fem R

(1) IBRD g/ (2) wwa wiufa R

(3) IMF g (4) G-7TU

Which are relevant conditions assumed by the factor price equalization theo-
rem?

L The countries are characterised by different factor endowments.
II. The countries are characterised by different production functions.
II. The industries are characterised by different factor intensities.

Eacl'{ country will export the commodity which uses its abundant factor
relatively intensively.

(24) (Continued)
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Codes :

(1)

LILILITV

(2) LILIV

(3) LILIV

(4)

LILII

e B GHET SR (Factor price equalization theorem) grT fert il o1 e
o TR 7

L

IL.

(M
2)
3)
4

i JuUEH wEiIHeE 1 g gl i fadan @ |
firm 39 weE %1 g g 6 T 2
s e sl A SRl Y o 2

el 3 36 a5 1 At Fm S T FEHE F geiern §9 8 e
@ 39 F4 |

LIL LIV
[ILIV
LILIV

LI 1I

(25) (Turn Over)
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45.

List-I
(a) Export pessimism
(b) Unequal exchange

(¢) Critical Minimum Effort thesis
(d) Innovations Entrepreneurship

List-11
(1) A.Emmanuel
(i) R.Prebisch
(11i) J. Schumpeter
(iv) H.Liebenstein

Select the correct matching option given in the code :

Code:

(a (b (c) (d)
(1) @ (i1) (iii) (iv)
(2) (ii) (1) (iv) (ii1)
(3) Gi) () (i1) (i)
@ Gvy G 1) (i)

-1 -1

(a) Toafa frmmarg () s
(b) 3muA fafm (i)  am. e
(c) Tiigrens =pan waw AR (iii) . yfte
(d) FESEH-Sen (iv) U, SR
fw =z ) FeEar ¥ TE Net w ww fifd
E T

(@  (b) (c) (d)
(1) () (i1) (iii) (iv)
(2) Gi) () (iv) (iii)
(3) () (iv) (ii) (1)
4 (Gv) (i) (D) (11)

(26)
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46. Which of the following are the characteristics of the traditional society in

47.

Rostow's stage of growth ?

(a) Limited Production Function

(b) NoGovernment Intervention

(c) Pre-Newtonian Science & Technology
(d) Dominance of Agricultural Activity

(1) a,bandd
(2) a, bandc
(3) a,candd
(4) b,candd
Pt § @ A @ AR ¥ TOIUI WA H IREES § 7
(a) wifia eaTEA we
(b) TT T AEEET
(c) =y fagm T TR
(d) FR H wuED
(1) a, buwd
(2) a,bWc
(3) a,c@d
(4) b,cwd
Despite being a high saving economy a developing country may still not grow
fast primarily due to
(1) Weak administrative system (2) Illiteracy
(3) High population density (4) High capital output ratio
wﬁmﬂa%ﬁmm-aﬁ%mﬁﬁﬂw*mﬁﬂmqﬁ
X /el
(1) FaAR FTafS o (2) s
(3) I THEEA T (4) 3= Yeil-IeqIg I
(27) (Turn Qver)
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48. Directions : The following items consist of two statements. 'A’ is assertion
and 'R’ is reason. _
You examine these two statements carefully and select the answer using the
code given below :

Assertion (A) : The doctrine of unbalanced growth is based on creation of
imbalances in the economy in a conscious manner,

Reason (R) :Unequal development of various sectors nften penerates condi-
tion for rapid development.

(1) Both (A) and (R) is individually true and (R) is the correct explanation
of (A)

(2) Both(A)and (R) is individually true and (R) is the incorrcet explanation
of (A)

(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

fdw: ﬁﬁiﬁiﬁﬁﬂﬁﬂmﬁﬂ%qﬁmaﬁaﬁt:ﬂéﬁﬁm{ﬁﬁﬁﬁﬁ?ﬂ
Futd | A awed & ot R wrm #

5 (A) :ﬁammmmﬁmmmmmm
|

w1 (R) : fafirs & o srwgfem faerma amraan dta snfils fram 6 kgt se
AT E |

(1) () (R) 31 7 3 30 (R) (A) 1 v 2
(2) (A)wn (R)2H1 @ ® 3l (R) (A) 1 S0 T8 2
(3) (A)wea 2 forg (R) o/rea 2

(4) (A)3mwea 2 fvg (R) 7w 2

(28) (Continued)
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49. The hypothesis that the degree of inequality of income increases at initial

30.

stages and declines at latter stages in the development history of nations has

been propounded by
(1) R.F.Harrod -} | (2] Simon Kuznets -
(3) J.R.Hicks |  (4) T.W.Schultz

7w ol B 3 ) ormEa g % A % anfle e & g A i A
o & o o i el @, s g s R R 2

(1) 3 TH TS (2) T o2
(3) . 2. = (4) A, T, gou

Which of the following variable is not included in the calculation of compo-

" site HDI index ?
(1) GDPIndex (2) Education Index
(3) Life Expectancy Index (4) Deprivation Index

ﬁwﬁﬂﬁqmmﬁgﬁﬁ,ﬁ,mﬁ,ﬁmﬂzﬂmﬂtﬁm% ?
(1) o, 9. A gE=w (2) Fren gEEw

(3) aA T g (4) = gEHH

(29) | (Turn Over)
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51. Match list I with list IT and select the correct answer using the mdmla given

below the list :

List-1
(A) Stationary state

(B) Unlimited supply of labour
(C) Knife Edge equilibrium

List-II
(i) W.A.Lewis
(ii) G Myrdal
(iii) Harrod Domer

(D) Theory of cumulative causation (iv) A.Smith
A ® © (D
(1) Gy - @ - G Qwv)
2) @) (i) (i) (ii)
() G qGi) @ (iv)
@ @ O G i)
wEt I e e 11 o firem it ofie = fag 1o wdhare! & amaR o ad s s
(8 | -1
(A) o raen (i) <=9, u afm
(B) sieifdya um ufd (i) . .. ¥ foeter
(C) /g YR Gger (i) o0e S
(D) werftww Rrgr (iv) u fem
@A ® © @O
() (i) () (i)  (iv)
@) (v) () (@) (ii)
() Gi) (i) @) (iv)
4) vy (i) (iii) (i)

(30) (Continued)
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52. Which one of the following factor is stressed by Schmp&er in his theory of

economic growth ?
(1) Innovations (2) Laissez faire
(3) Population growth (4) Surplus value

Wuﬁmﬁmm#ﬁmﬁﬁaﬁamﬁ%m% ?
(1) Fayadd (2) vrEwEd
(3) vae qig (4) =t Ted

53. TheBig push strategy of development was first advocated by
(1) Rosenstein Rodan (2) Simon Kuznets
(3) W.A.Lewis 4) A.D.Hamiuﬁ;n
P 3 vaet g = wdm R fan ?
(1) WA T (2) . FHIE

3) =g L aRE (4) T 3, T

(31) (Turn Over)
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54. Consider the following statement :
The knife edge problem in the Harrod-Domar growth model implies a constant

. Rate of population
. Output
IIl. Rateofsavings

IV.  Capital output ratio
Thus choose one of the following options :

(1) IV alone is correct

-

(2) IandlI are correct
(3) I, ITand Il are correct

(4) L IIandIV are correct

e aoe W erm &
Bz -2 dfee o 9w wwen w1 o @ wum

. wwemIfzwm
[I. 3R
[Il. s|a§

V. feft-seme g
H‘H:ﬁﬁﬁﬂlﬁﬂi:

(1) IV g §
(2) Imullasa§
(3) LIlaw g

4) LIlawIVaxg§

(32) (Continued)
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List-I List-II
(a) Unbalanced growth (i) A.O.Harschman
(h) Rand D and growth (1) K.Marx
(¢) Human capital and growth (iii) P. Romer
(d) Surplus valueand accumulation (iv) R.Lucas
Select the correct matching option given in the code :
Code:
(@ (b) (c) (d)
(H i) (i) (iv)
@) Gv) (i) (D) (1)
(3) @ i) () (ii)
@ G) @ @ (iii)
geft-1 h-11
(a) g o (i) T 3l i
(b) Rt D fawm (i) % W
(c) wFa gl AR T (iii) ot TR
(d) R IFd @ T (iv) 3T, g
ﬁqm@ﬁm%m%mwaﬁ :
%l
(@ () (c) (d)
(1) @) (it) (iii) (iv)
@ v G 6@ O
(3) @) (iii) (iv) (i1)
4) (i) () (1) (iii)

(33) (Turn Over)
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56. According to Solow, the long-run rate of growth in an advanced cconom
equals Harrod's

(1) Natural Rate of Growth
(2) Warranted Rate of Growth

(3) Actual Rate of Growth

(4) Warranted Rate of Technical Progress
ﬁﬁ#mw,wﬁmaﬂwmﬁmmﬁﬂwﬁ?ﬁ%%ﬁzi
(1) wrhfess wafg o

(2) ¥=oa (smafid) wafs o

(3) sl #3ig T

(4) R e <R sfea o (snvafim )

57 List-1 List-]1
(a) Physical quality of life index (i) W.W. Rostow
(b)  Organic composition of capital (ii) R.F. Harrod
(¢c) Warranted rate of growth (i11) Morris D.Morris
(d) Stages of growth theory (iv) Karl Marx

Choose the correct matching option from the given codes -
Codes:

@@  (b) (c) (d)
(D (v) Gy () (ii)
) (i)  Gv) () (i1)
(3) () (v (i) ()
@) i) Gv) (i) (i)

(34) (Continued)
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-1
(a) ofieT gEs f it qoEs
(b) 4 1 J= T
(c) wgfg # anvaiE
(d) ﬁ'{ﬁfﬁiﬁaﬁm

T2
(@  (b) (c) (d)

(1) (v @i O (ii)
(2) (i) ) @ (ii)
3) Gy G Gy @)

(4) (i) () (11) (i)
Solow built his model as an alternative to
(1) Kaldor's model of growth

(2) Ranis-Fei model of growth

(3) Meade's model of growth

(4) Harrod-Domar model of growth

18P/239/23 (1)

-1

i) W, TH BT
i) v €, Wi
iv) Tl AT

—— — e p—
®

fi a2 1 TEEE § T e T H

@?ﬁ%mmﬁﬁaﬂiﬁw%mﬁﬁﬁﬂm?

(1) SR F fasm Aiee
() m-wr = fww e
(3) e = fama AtEd
(4) re-2m 1 fem Hise
(33)
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59. What is the correct sequence of the following approaches to development in

terms of their chronological emergence ?

(a) Percapita income approach

(b) Basic needs approach

(c) Human Development Index approach

Choose the correct answer from the codes given below :
Codes :

(1) a,b,c

(2) b,a,c

(3) b,c,a

(4) acb

fawm & Frafafea sRwm & 7% anfivla § sermgar s@ s wm 2 0

(a) wheafe sma gfEwm

(b) WENE FETEHAT g

(c) wma e gaeis gfRsmm
Prefoies g ™ 2 4 ¥ wd sm -
i :

(1) ab,c

(2) b,ac

(3) b.c,a

(4) acb

(36)
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The physical quality life index 'PQLI' is based on

(1) Percentage of literacy, infant mortality and life expectancy
(2) Adequate supply of food, water, shelter and health services
(3) Provision of sanitation, education and welfare measures
(4) Al that's mentionin (1),(2)and (3)

s e o g (PQLI) few w ameia 2 2

(1 i & whm, firg e 2 o S e & g W
(2) @, 9, 39 & e ghmed A wfE o

(3) Twea, fuEn au FEA™ i Iy

) (1), (2) 3 (3) WA

Demographic dividend refers to the rise in population

(1) Between the age group of 1 to 14 years

(2) Between the age group of 15 to 64 years

(3) Between the age group of 65 to 74 years

(4) Above 74 years
m@mmﬁﬂﬁﬁﬁamaﬁﬁq&ﬁwﬁﬂt ?
() 131478 A EE @

2) 15264T & ¥ wR @

(3) 65¥ T4 & g wqE |

(4) 7474 4 S

(37) (Turn Over)
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62.

63.

64.

The progress of economic development refers to

(1} Growth of national income over time

(2) Growth of per capita income and standard of living

(3) Full employment of the entire population

(4) Growth of national income with structural changes in the economy
e o & aeq @ ord 2

(1) =93 % u U - F1 9!

(2) wfeafs s @ s w0 = e

(3) & FEE ¥ fore qof demm

(4) nlsgarn § G TEds F T T o = A

Marx refers to the concept of organic composition of capital. Which one of
the following ratios stands for this 'Where c is constant capital, v is variable
capital and s is surplus value'.

e gft it A v F o=l =@ 2 | Frer A @ wowm e A cular 2
el o, vafadwie &, s—afe g

(1) eliv+s) (2) c/v
(3) ele+vy ~ (4) (c+v)iv

Disguised unemployment generally exists in

(1) Manufacturing sector (2) Agriculture sector

" (3) Small scale industries (4) Urban societies

Sy i) T et 3 @ R rd e ¥ 2
(1) fafmtor g & () F &7 3
(3) wg e | (4) Wl T 3
(38) (Continued)
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65. Directions :  The following items consist of the two statements. 'A' s
assertion and 'R’ is reason.

Assertion (A) : Technological changes is regarded as an important factor in
the process of economic growth.

Reason (R): Changes in the technology leads to increase in the productivity
of labour, capital and other factor of production.

You examine these two statements carefully and select the answer using the
code given below :

(1) Both(A)and (R)is individually true and (R) is the correct reason of (A).
(2) Both(A)and(R)is individually true and (R) is the incorrect reason of (A).
(3) (A)istruebut (R) is false.
(4) (A)is false but (R) is true.

Frder. Iaiies A1 A A U3 IR A9 R T HER 1 g WIWE A T

2 91 'R’ &9 |
awed (A) : s gty 1 vhea # TeAh wRadd o TEEQ FRE T
S s
F (R) aaite & e A m, ¢t o 3w F o weel Y IedrERdl
dgfaad el

(1) (A)au R) 3 w8 & R)(A)F @ F |
(2) (A)wn (R) 3 & &, (R) (A) 1 7670 FR9 8 |
(3) (A)=d 2 afF (R)Tem 2 |
(4) (A)7Tem & AfFT (R) & 2 |

(39) (Turn Over)
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66. Directions: The following items consist of the two statements. ‘Al 1s
assertion and 'R’ is reason.

Assertion (A) : The growth of per capita income in India is slow.

Reason(R): Indiahas experienced ahigh growth rate of population.

You examine these two statements carefully and select the answer using the
code given below :

(1) Both(A)and (R)are individually true and (R} is the correct reason of (A).

(2) Both (A) and (R) are individually true and (R) is the incorrect reason
of(A). .

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

fdy: Frefafaa 241 =t wrgs 1 s AR fr T daE | g R I E AT
gwhed & 991 'R’ SR |

awsd (A): e o wfo safe ema gfy g dnht @

%0 (R) : IE ¥ 39 TAEE g9ig o F e B g
(1) (A)am (R)2H 78, (R) (A) F1 we) Fweor # |

(2) (A)wn (R) 3 &, (R) (A) F1 e 1 R |

(3) (AT AR R) TR |

(4) (A)Tem R Af R) TR

(40) (Continued)



67. Economic developmentis a

. Continuous process

1.  Short term process
Ill. Long term process

Answer by choosing any one of the following :

(1) II alone is correct

(2) 1andlll are correct

(3) Il alone is correct

(4) Iand Il are correct

e fasm 2
. @aa i
Il afeqeier gfswan
M. drfemeia e

fre & Qo ey T FIWA
(1) Faa &=
(2) TawnIw&
(3) e [T

(4) Tww &

(41)
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68.

69.

Disguised unemployment refers to the situation when ?

(1) People scems occupied on a full time basis even though the services
they render required less than full time.

(2) Workers are unpaid despite doing full time job.
(3) There is a coexistence of unemployment and inflation.

(4) The economy experiences under employment equilibrium.

veod auwTd Fra & F | fefa 2 7

(1) waft s oisstas w9 @ S et & JEih $h g Yan dare g |
Y geg § Y 6 1 Tl 2 |

(2) st A e 78 wH g Jath 3 QiR ¥ | W A § |
(3) Hgrehifa aun ST 1 ge-fee |
(4) efoggwen § 7ol Gaoq O 1 S A 2

Which of the following sequence correctly depicts the 'Vicious Circle' of
poverty ?

(1) Low income— low investment— low demand— capital deficiency

(2) Low investment— low income - low saving— capital deficicncy

(3) Low income— low demand— low investment— capital deficiency
(4) Low investment— low saving— low income - capital deficiency

e 8 @ 99 w vl F grEsw B ol w0 guiar R 7
(1) F=rem e fean- P ame §6h 6 =
(2) F= fEm- P e fe awa- g5 o
(3) = s Fe am- Fma e 6 R =
(4) = Pew— P gea - fog s o @ g

(42) (Continued)
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70. The utilisation of disguised unemployment as a SOUrce of saving potential in

g

72.

underdevecloped countics was suggested by

(1) R.Nurkse (2) P.Baran

(3) R.Harrod (4) W.W.Rostow

e v R o frafa 2w i we e w9 A et e o gEnd T fen
(1) ¥, (2) . TR

(3) ¥ | (4) T, T, T

Who defined India's problem as one of 'primary accumulation of capital' ?

(1) A.XK.DasGupta (2) N.Kaldor

(3) V.K.R.V.Rao (4) J.R.Hicks

Fr W 6w ) e g ¥ e dead S e o ?

(1) T % TR (2) T FeSH

(3) &, % A, & T (4) . o fewm

Which of the following model is considered very close to Mahalnobis Model ?
(1) Feldman (2) Solow

(3) Kaldor (4) Joan Robinson
ﬁuﬁﬁﬂqmqﬁamﬁmﬁa@mmm% ?

(1) ez (2) @&

(3) FH (4) ¥ qferaA

(43) ! (Turn Over)
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0%

74.

73.

In case of a Giffen good, the income effect

(1) More than offsets the sybstitution effect
(2) Isequal to the substitution effect

(3) Reinforces the substitution effect

(4) Only partially offsets the substitution

o awgett % e # o e

(1) Sfens e A s g 2

(2) whtrers e % wvEr B 3

(3) whwems wra Ft e s 2

(4) Fa@ T o O IR 9N F) SR w2

When average product increases, the marginal product is

(I) Less than the average product (2) More than the average product
(3) Equalto the average product (4) None of the above

1@ St IR w1 & A diaia e

(1) ofrea Ieared @ Fu ar (2) oitea so9icH & wfiy gl 2
(3) 3fEa S & e g 2 (4) 3T & @ F§ 7

Quasi-rent is

(1) Price- AVC (2) Price - AFC
(3) Price~(AVC +AFC) (4) Price - MC
HITH T A0 BT 2

(1) Price (Fima) — AVC (2) ®ma -~ AFC
(3) #ma—(AVC+AFC) (4) &ima - MC

(44) (Continued)
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Who defined rent as the reward for use of original and indestructible powers
of the soil 7

(1) Marshall (2) Joan Robinson
(3) Jevons (4) Ricardo
mﬁwﬁmﬁﬁmﬁmm#wﬂ#aﬁﬂaﬁmw

= ?

(1) el (2) s UfemEa

(3) va= (4) Fearet

}n case of two perfect substitute commodities, the marginal rate of substitution
5

(1) Constant | (2) Unchanged

(3) Increasing (4) Decreasing

2 ot e wegelt % d SR i @ g A R

(1) fer (2) raREfia

(3) =&l g (4) weh g

Supply curve of the short run competitive firm is the same as
(1) Short run Marginal Cost (SMC) curve
(2) Average Variable Cost (AVC) curve
(3) SMC curveabove AVC curve
(4) SMC curve above Short run Average Cost (SAC) curve
steraTe 3 whav v qfd T g
(1) s dam arma (SMC) 3%
(2) 3wa aRedAite @ra (AVC) 35
(3) AVC 3% & 9% SMC 9%
(4) g sitem @ (SAC) 3% F FHR SMC
(45) (Turn Over)
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79.

80.

Leontief isoquant is

(1) Parallel to the axis with a kink

(2) A line with no kinks

(3) A line with many kinks

(4) Asmoothcurve

ferarafes =1 wHiaaTe 9 B 2

(1) fag=v & o 715 & gaArm

(2) Fodem dRm e

(3) e g wfgw tan

(4) fegio Sl

When income falls, what happens to the liquidity preference curve ?
(1) Itdoes not shift

(2) It shifts to the left

(3) It shifts to the right

(4) It becomes parallel to the vertical axis

S 3 # Fft Bt R, v ot s @k i = Al B 2 o
(1) ¥ TaHwafE T8 g 2

(2) % 9l 3R wERa gl 2

(3) %% et AR wATE g 2

(4) I TEaT A & FHHET B T 2

(46)
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Which one of the following cost curves is not U-shaped ?
(1) MCecurve (2) ACcurve -
(3) AVCcurve (4) AFCcurve
e @@ T A B U-3Tgh T e R 7
(1) MC % . (2) AC T

(3) AVC TF (4) AFC 3%

When elasticity of demand under monopoly is equal to one, then Marginal
Revenue will be

@ﬁm%mﬁﬂﬁnﬂ?ﬁamﬁr&%mﬁﬁ%ﬁmmmﬂq@’ﬁ

1) MR=0 (@ MR=1 () MR>1 () MR<l

. In Hicks-Hansen theory of interest, an increase in money supply leads te

(1) Rightward shiftof IS curve

(2) Leftward shift of IS curve

(3) Rightward shift of LM curve

(4) Leftwardshift of LM curve
ﬁﬂ-%m%mmﬁﬁ,%ﬁﬁﬁﬁﬁﬁmi
(1) 18T T gt S T
(2) 1S % 1/ S T

(3) LM a5 1 gt 3R et

(4) LM s &1 arfl 3R TR

(47) (Turn Over)
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84.

85.

86.

Who among the following held the behaviour of population as an obstacle to
economic growth in initiating the process of growth ?

(1) Lewis | (2) Leibenstein

(3) Rostow (4) Rodan

Pefefla & & fred onffs frer & when oo 301 & g & =En &
famm =1 amas T} 7

(1) fofem (2) fdifem

(3) 2= (4) Jsm

According to Nurkse, developing countries will have serious and adverse
effect on their balance of payments due to which of the following ?

(1) Backwash effect (2) Spread effect
(3) Demonstration effect (4) Multiplier effect

W%%ﬂﬁqﬁﬁﬁﬁ#ﬁmﬁamm&sﬁ%w@mméﬁz
Ta gfiget g91E 9 ?

(1) wfoférm s (2) fomam g
(3) Fe (4) T ST

A monopolist will fix equilibrium output of his product where the elasticity
ofhis Average Revenue curve is

(1) Zero (2) Lessthan one
(3) Equaltoone (4) Greater than one

EWWMmeﬁﬁﬁﬁamwmmmw
# A At

(1) 1= (2) ¥ wx
(3) @ & su (4) 7 ¥ s

(48) (Continued)
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Marginal Revenue will be negative, if the demand is

{1} Relatively elastic (2) Relatively inelastic
(3) Perfectly elastic (4) Unitary elastic
rea e FoeEs @, Ak i g

(1) | =g (2) WNE SA=IR

(3) Tofa: SRR (4) 398 TR

Situation of bilateral monopoly exists when

(1) Two sellers face two buyers
(2) One seller faces two buyers
(3) One seller faces one buyer
(4) Two sellers face a few buyers

Tty gafrn ) feufa @ gt & o
(1) @ R & el = AW FA
(2) U T 3 Shanadt @ wE F
(3) e Tk O A WA H
(4) 2 Fpa o il F FEE A ¥
The objective to establish MUDRA bank is
(1) Topromote banking habits amongst weaker section
(2) To provide assistance to the informal sector and demestic small business
(3) To provide assistance to the corporate sector
(4) To promote financial literacy
g1 (MUDRA) ¥ ) T %1 38 &
(1) e o & & omea A SiewTed FE
(2) i 2 wd Tie 91 ATER! B FEEAl S F
(3) it &= % FEEa ggH HE
(4) feia weran (fam) i WewfEa HE
(49) (Turn Over)
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90. The condition of optimal allocation of goods A" and ¥ between two consumers

91,

A and B under perfect competition, according to Pareto, is

TR F AR, [ wfeaifiar & smnta, 4 sk B @ swdtewed & #w X e v

TEGHI & FTFAW Heed Hi 0
(1) MRS, > MRSE, (2) MRSL, <MRSD,
(3) MRS., =MRSE, (4) MRS}, = MRS®, =0

Productivity of Indian agriculture can be enhanced by
(a) Increased public investment

(b) Increased irrigation facilities

(c) Shifting workers from industry to agriculture

(d) Higher support price to the farmers

Select the correct answer from the codes given below :
Codes :

(i) a, b, ¢ 2)xd,8
(3} i, b:- 'd (4} b, C, d

W FY Ieargwar &t Frafafiaa gro sgrn <1 @ 2
(a) e Faw @ agmE

(b) f=r glamsdi i sg=

(c) il 2 32im A FR A ik ¥ W

(d) FTH B TR TEAF FOF 2 H

et fou e 7 4§ v sw o T

L T

(1) a b, c | @) ¢ da

(3) a, b, d (4) b, ¢, d
(50)
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The following factor was not considered by the 14th Finance Commission in
determining the States' share in the divisible pool

(1) Population (2) Demographic change

(3) Income distance (4) Fiscal discipline

Py TR (Pool) & Tl w1 e R w0 & forg egd e s g
Frfrfiga # & 59 @1 wwe 38 o= ™ 7

(1) & (2) sAifH fEdT
(3) smgh (4) TSI ST
(i) Introduction of Rolling Plan

(ii) The movement from planning to market mechanism
(iii) Nehru-Mahalanobis model
(iv) Declaration of plan holiday

Choose the option having the right chronological order.

Code
) @) Gi) Gv) Gi) @) Gi) Gv) @) Gii)
3) Gii) Gv) @) (i) @) G Gi) () )

(i) Tfem <= H1 TN

(ii) Praivem & TR ety (Fare) Hi oF e

(iii) FEE-HERIAR WS

(iv) e o A

TR e HAHEAR F faeReT =T Hifag

A

(1) @) (i) Gv) (i) (2) (i) (v) (D (i)
(3) (i) (iv) () (i) (4) (i) (i) (i) @v)

(51) (Turn Over)
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94. The general methods used to solve industrial disputes in India are

03.

(a) Collective bargaining
(b) Compulsory arbitration
(c) Adjudication

(d) Decision by trade unions

Choose the correct combination of methods from the following codes :
Code :

(1) aand b _ . (2) band ¢
(3) band d (4) a and ¢
HIa # stk foEe w1 g w4 % forg swdi ) 7€ gy g 2
(a) wUfR weamh

(b) = fEmm

(c) wferfdfa

(d) =g 5t % fofg

frfeled %2l @ wdl waem 1 =5 & |

E T4

(1) awerh (2) bawme
(3) bawd (4) agac

Which of the Five Year Plan has laid em phasis on 'faster, sustainable and incha-
sive growth'?

(1) Eleventh Five Year Plan (2) TenthFive YearPlan

(3) Ninth Five Year Plan (4) Twelfth Five Year Plan
e el it % ‘st A e qen e wafy TSR g e
(1) =md yeadig gie (2) el vy g

(3) & waadfa demn (4) swEdt T=eifa g

(52) (Continued)
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As per the latest SRS data, which of the following age group has the lowest
age-specific fertility rate in India ?

mnmm,%mm%mmﬁﬁﬁmm—@ﬁﬁﬁﬂ%'m
£ oy - o it 27w 2 7

(1) 15-19 (2) 20-29 (3) 30-34 (4) 35-39

1f the propensity to save in a country is given by §=03y - 50 and level of
investment is given by I=0.2y. Find the equilibrium income

o @ 3 § = wgfy §= 0.3y - 50 3 fafsm ww 1=0.2y 2, g aM
7@ FIRe '

(1) 5000 (2) 1000 (3) 500 (4) 100
Which of the following relations are functional relations ?

(1) Y isthesonof X

(2) y=(x-3)2

(3) Consumption is proportional to income

(4) (2)and (3)are correct

S e § W e g 8
(1) ¥ Xa@t

2) y=@&-3)2

(3) T 373 & A & &

4) Q)3 (3)uaeR
(53) (Turn Over)
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99. Let R be the relation > from A = {2,4,6,8) to B={3,5.7.9.10}. What will
be the domain and range of R

(1) Domain={2,4, 8}, Range={3,5,7)

(2) Domain= {4,6, 8}, Range={3,5,7}

(3) Domain={2,4,6}, Range={5,7,9,10}

(4) Domain= {4, 6,8}, Range={7,9, 10}

AR R > a4 ={2,4,6,8) F B={3.5,7.9,10} & 3 | R % =i 3w ¥z
1 g ?

(1) 3 ={2,4,8}, ¥={357

(2) 3™ ={4,6,8), W=1{3,57

(3) W ={2.4,6}, ¥=1{572910}

(4) 3 ={4,6,8), T={7.9 10
100. f'{x)<0 and f"(x)>0 implies
(1) Value of function is falling at an increasi_ng rate

(2) Value of function is falling at a decreasing rate

(3) Value of function is increasing at an increasing rate

(4} None is true

fx)<0 3R x>0 =1 o 2

(1) e 1 7 sget g8 <0 o i e 2
(2) oo & am et g o w e @ 2
(3) oM F1 A Todt g TR 7g wr d
(4) i w1 weg T #

(54) (Continued)
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Profit maximization output for a monopolist firm with C=aX?+ bX+d, as

cost function and p = - oX’ as the demand function (when firm fixes output)
will be

e T o, R wE Sed C=aX?+bX+d, WA S p=p-oX
2wl &1 aiftram @ Saed € (AR i ser = fRn = ?)

(1 x=2 Q) Xt
x+a a+a
__B-b __b-p
3) X_Z(cHa) S 2Aa+a)

If demand function is p=35-2x-x’ and the demand x, =3, what will be
consumer's surplus ?

R 7 HeH  p=35-2x-x AN x,=3 8, vt iRt 1 A B

(1) 0 @) 30 3) 27 (@) 25

If arithmetic mean and geometric mean of two values are 10 and 8 respec-
tively, find the values

(1) 12and4 (2) 16and 4
(3) 12and2 (4) 16and2

R 3 T & SRR Wrea R UATR Hred S 10 3% 8 ¥, 7l % WM I
it

(1) 12 ¥R 4 (2) 16 3R 4

(3) 12 3 2 (4) 16 3R 2
(55) (Turn Over)
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104. Factor reversal test is satisfied when

e IeFAgal AT HgP A } W
(1) Byxh,=1 | (2) RyxQy=1
Zplffi
(3) BixQ,=1 (4} X0y = S e

105. If b _=0.5, r= 08 variance of y = 16, thevalucufc will be
afe b,=05 r=08 y #1 fw = 16, 96 o %1 WA gm

(1) 2.5 (2) 6.25 (3) 6.4 (4) 10

106. A bag contains 3 black, 3 white and 4 red balls, Three balls are taken out from
the bag at random. Find the probability of drawing one black, one white and
one red ball.

U Ot | 3 welt, 3 e o 4 A WS & | rgeem 37 Ot A @ Tt s #
01 #1eft, 01 Gihg R T&F T 2 Pl 913 Y Wi s fiftm |

4 5 7
a5 5 &l = @ 5 @) =

R
107. f:R - R is defined by f(x}“—-e - is
+€

(1) one-one but not onto (2) many-one but onto

(3) one-one and onto (4) neither one-one nor onto
f:R—> R qftwifia & f{I)=§:z::

(1) T9-77 Feq g, T (2) 7g-37 Wy g,

(3) -3 qu1 AFE (4) T -7 3l 7 e

(56) (Continued)
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08T ¥ 4y =3axy, then 2 will be

‘iﬁx"+y3=3mg.rﬁ1% g

Hy—.l.z _xl
) J‘(y;_m]) @) 3(";_&3]
(¥ -a) (ay-x)
3) [a}'-f} 4) (}-’z—m')

109, | Ef—{ will be

x
H
(1) 2logx®+c (2) Eingxlﬂr
1
3) gf-jgzi}wﬂ (4) 2(lﬂgx1)z+c

110. Function y=x*-3x*+5 hasapointof inflexion

(1) at x= -1 (2) at x=1
(3) at x=2 (4) at x=0

o y=x -3 +5 @ AR oRada g R
(1) x==-1W (2) x=1W
(3) x=2 R (4) x=0 W

(57) (Turn Over)
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111 If H=E ﬂ then determinant of the matrix 4° - 24 will be

afy A=[1 ;' ¥ AL A2~ 24 F wREF 7 9 g

(i) 1 (2) 3 (3) 5 (4) 25
2 3 1 4] .
112, Therank of thematrix A={0 1 2 -1| is
0 -2 4 2
(1) 2 (2) 3
(3) 1 (4) Indeterminate
"2 3 1 4
FgE A=(0 1 2 -1 mlswm
o 2 4 2
(1) 2 (2) 3
(3) 1 (4) Afraiofy

113. The relation between minor—M, and cofactor— C, is shown by
STHRRE— M, T HE-TR—C, % I ww F A g v w8

(1) ¢, =M, @) G =+))" M,
G) C=(-1" M, @) G =-()" M,

(58) (Continue



114,

115.

116.

18P/239/23 (1)

What is (/,~{ ) in statistical analysis ?

(1) Class {2) Class limits

(3) Mid-value (4} Classinterval

wiftedr Rdma (- 1) T 7

(1) = (2) =t wpmd

(3) W (4) =1 F=E

If Lorenz curve is a straight diagonal line, it shows that the distribution is
(1) Equal (2) Highly unequal

(3} Unequal (4) Unequal of low degree

aft S o o fael Y & 3 <wim R e e

(1) @M R (2) wga wfi v 3

(3) sraur } (4) %% ¥Er }

If points on a scatter diagram DO NOT show any clear trend, we conclude that

(1) Variables are highly correlated
(2) Variables are positively correlated
(3) Variables are negatively correlated

(4) Variables are not correlated
af Ry R w03 firg #1§ we vgf T uit o o 7w el fraed €

(1) =0 # 3= geamy 8
(2) = # waTe TEEE d
(3) =l # o TEwEy
(4) = % wreag T R

{59) (Turn Over)
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i17. According to the empirical rule, approximately what percent of data shou!d
within pt2o
swaa T & AR, o g9 F fohen gfawd kw120 & dffg g il 7

(1) 75 (2) 95 (3) 99 (4) 65

118. The grouped data is also called

(1) RawData (2) Primary Data
(3) Secondary Data (4) Qualitative Data
wfea At e §

(1) omaRepa g (2) i s
(3) fodiass arfwan (4) ToTHF

119. Tick the correct :
w8 = Ry Fift .

(1) A—B={x:xedﬁx!3}
(2) A-B={x:xedux¢B)
() ﬁ—B={x:xEAr‘1xEB}

(4} A-B={x:xeduxeB)

&N
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120). A good index number is one which satisfies
{1) Unit Test,
(2) Time Reversal Test
(3) Factor Reversal Test
(4) Time and Factor Reversal Test
7% 0! gaEE a8 § 9 g W d
(1) v olgm
(2) wm Iswna qlE
(3) @ Iohna TEy

(4) T Td T IShregar G

(61) B-2,50(
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